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B Packets of cereal are labelled as containing 500 grams of cereal.
'The actual contents can be modelled by a normal distribution with
mean 503 g and standard deviation 7 g.

What is the probability that the mean contents of a randomly selected
sample of 10 packets will be under 498 g?
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The volume of liquid dispensed into bottles is normally distributed with
mean 500ml and standard deviation 6.2 mL

i) A random sample of 5 bottles is taken. What is the probability that
the mean volume in the 5 bottles is at least 504 ml?

ii) Another random sample is to be taken. What is the minimum sample
size needed for there to be no more than a 1% probability that the
mean volume is greater than 501 ml?
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2. Packets of biscuits are labelled as containing 350 grams. The actual
contents can be modelled by a normal distribution with mean
352 grams and standard deviation 4.5 grams.
-

a) Find the probability that the mean contents of a random sample of
10 packets is at least 350 grams.

b) What is the smallest size of random sample for which there is
probability of under 1% that the mean contents is under 350 grams?
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st On aflight there are 43 bags checked in. Historical records show that on
that route the mean weight of checked bags is 12.1 kg with a standard
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What is the probability that the mean contents of the checked bags on this

flight will be under 1 L kg? (You may treat the bags on this flight as though
they are a random sample of bags checked in on that route.)

Aa &ze (43 Z 30
= 2 0 ;}-82
. ean 3’/ é5‘/""{”(4?(‘)()('\/ ]\} (/2" Y, —4—5—-

px<i)= q0288 -2.1%

Vowva nee .

Statistics AS and A level Page 5



